Economics 101

Spring 2005
Answers to Practice Questions #5
1. A perfectly competitive market is more efficient than a single price monopoly, and a second-degree price discriminating monopoly is less efficient than a monopoly that perfectly price discriminates.

2. X should be any number less than or equal to 5.  Y should be any number less than or equal to 1.

3. Mary’s Bakeshop will control the market and the market equilibrium price will be $6.99. 

4. Mary’s Bakeshop will control the market and the price will be $6.99. Although Mary’s Bakeshop is the only firm in the market, it cannot charge its monopoly price, $8, since charging $8 would create incentives for Cleo’s to enter the market.

5. Mary’s will control the market and the price will be $6.5. Although Mary’s can charge a price slightly higher than $6.5 without creating any incentive for Cleo’s to enter the market, it will not do that.  Since Mary’s Bakeshop is the only firm in the market, it can charge its optimal monopoly price.
6. (c) (U,L) only.

7. (d) All of the above.
8. (c) x=4,  y = 3
9. First find the equilibrium wage rate in the labor market:

Labor Demand = Labor Supply


60-W=4W+10


50 = 5W


W=$10  (equilibrium wage).   Then 50 units of labor are hired in equilibrium. 

Next calculate the firm’s marginal revenue product (MRP = P * MPL).  Hence, MRP=(5)*(12-2L) = 60-10L.  Also see the table below. 
	Labor (L)
	MPL
	MRP

	1
	10
	50

	2
	8
	40

	3
	6
	30

	4
	4
	20

	5
	2
	10

	6
	0
	0


So, then equate the equilibrium wage to the MRP (the firm will hire additional labor up to that point where the additional cost of that labor, the wage rate, is equal to the addition to total revenue from hiring an additional unit of labor, the MRP).  Therefore we find that L=5 for the firm.  

Since 50 units of labor are hired in equilibrium, and since the firms are identical, there are 10 firms total in the output market.
